Simplifying Polynomial Expressions

@ Simplify each polynomial.

1) 6x+4x2+23+T7x—7=

2) 1323 + Tx2 — 423 + 1722 — 2023 + 1122 =

3) 11z + 322 — 23 + 5z =

4) 19z + 6z%2 — z® + 3z =

5) (2023 + 722 — bx?) + (2522 — 272% 4 1222) =

6) (82 + 6z% — 4x3) + (1222 — 1423 + 1022) =

7) 523 + 622 — 323 + 822 — 113 + 922 =

8) (10z% + 5z% — 5z3) + (1522 — 152% + 102?) =

9) (11z3 + 622 — 423) + (1522 — 17z% + 102?) =

10) (923 + 222 — 723) + (1622 — 1123 + 922) =

11) 8z + 2x2 — 23 + 5z =




Answers of Simplifying Polynomial Expressions

@ Simplify each polynomial.

1) 6z+4z? +23+ Tz —T=23 +422 + 132 -7

2) 1323 + 7x? — 423 + 1722 — 2023 + 1122 = — 1123 + 3522

3) 11z + 32 — 2% + bz = — 23 + 322 + 16z

4) 19z 46z — 22 + 3z = — 2% + 622 + 22z

5) (2022 + Tx? — bxd) + (252% — 272 + 1222) = — 1223 + 4422
6) (823 + 622 — 4x3) + (1222 — 1423 + 10z%) = — 1023 + 2822
7) 523 + 622 — 3% + 822 — 1123 + 922 = — 923 + 2322

8) (10z3 + 5z2 — 5z3) + (1522 — 1523 + 10z2) = — 102® + 3022
9) (11z® + 62% — 423) + (1522 — 172® + 102%) = — 102® + 3122
10) (923 + 22% — 7z3) + (1622 — 112® + 92?) = — 923 + 2722

11) 8z + 2x22 — 23 + 5z = — 2% + 222 + 13z



